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Who is the writer of ‘Marwar Murals’ ?
(1) Jaisingh Neeraj

(2) ‘Ramavatar Agarwal

(3) Maharaja Bakht Singh

(4) Sawant Singh

‘Ramjhol’ ornament is associated
during Medieval Marwar with which
part of body ?

(1) Belly (2) Nose
(3) Feet (4) Finger

In which language Prithviraj Rathore
written the book ‘Veli Krishan
Rukhmani Ri’ ?

(1) Pingal (2) Dingal
(3) Marwari (4) Sanskrit

‘Gindar’ Dance is associated with
which place ?

(1) Marwar (2) Shekhawati
(3) Dundhar (4) Vagar

In which district Osian Jain Temples
are situated ?

(1) Jaipur
(3) Barmer

(2) Jaisalmer
(4) Jodhpur

In which language the Literature of

Dadu panth is complied ?
(1) Marwari (2) Bagri
(3) Mewati

(4) Dundhari

Which fort is known as “Gadh Beethli” ?
(1) Taragarh (2) Mehrangarh
(3) Achalgarh (4) Kumbhalgarh

OB



10.

11.

OB

TSTETH 31 &t feferiad g 3o
T ¥ T &het & T SR 7

A. T B. sfesm
C. fogseive D, dive
He :

(1) AABWD
(3) BWD

(2) ATC
(4) AW D

FefRaa it gafea SR or = i3
T 2l HI HEE § G IR H G
i
Tt
A. I e
B. W& 3RS ii.
C. <f&orammelt i
*
A B C
(M i i i
() i i i
(G) it i i
@4 i i i

Tela =it
ERLEx
TR
g

= % 9 9 @t 7 tawRm % At
HYETE G § Heg TE & 7

(1) &8 (2) @iz

(3) Her (4) feht

TS T 1247 sqifafeft waf ® [
g7

(1) I

(3) fr Hara

(2) frEme
(4) 3R

10.

11.

The area of Rajasthan is nearly
equivalent to which of the following
European countries ?

A. Norway B. Belgium
C. Switzerland D. Poland
Codes :

(1) A,BandD (2) AandC
(3) BandD (4) AandD

Match the following and select the
correct answer using codes given
below :

Region Mountain
Peaks
A. North Aravalli i. Rishikesh

B. Middle 1i. Taragarh
Aravalli
C. South Aravalli iii. Bhangarh
Codes :
A B C

nH i ii 1
(2) i i i
3) i i ii
4) i i i
Which of the following river does not

belong to the inland drainage system of
Rajasthan ?

(1) Rupangarh
(3) Mendha

(2) Khandel
(4) Mitri

Where 12" Jyotirling is situated in
Rajasthan ?

(1) Pushkar
(3) Shri Kolyata

(2) Shiwar
(4) Amber
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Central Institute of Arid Horticulture is
situated at

(1) Jodhpur
(3) Barmer

(2) Bikaner
. (4) Ganganagar

Match the following and select the
correct using codes given below :

Animal Breed
A. Camel . i. Rathi
B. Sheep ii. Bikaneri
C. Goat iii. Magra
D. Cow iv. Jhakhrana
Codes :
A B C D
(N i i - W

(2) i i i v
(3) i i v i
4) iv il il i

Where is the headquarters of Rajasthan
Co-operative Dairy Federation Limited
(RCDF) ?

(1) Jaisalmer (2) Bikaner
(3) Jaipur (4) Ajmer

Which among the following districts of
Rajasthan has experienced the highest
decadel population growth rate during
the year 2001-2011 ?

(2) Alwar

(4) Barmer

(1) Jaisalmer
(3) Jalore

Which of the following forest type is
found in the areas of 75 to 110 cm
average annual rainfall in Rajasthan ?

(1) Tropical thorn forest and scrubs

(2) Mixed deciduous forests

" (3) Dry forests

(4) Dry teak forests
OB
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Which one of the following is not a
correct match ?

Industries Location
(1) Cement - Modak
(2) Fertilizer — Gadepan
(3) Glass — Leelwani
(4) Copper — Khetri

What is the approximate value of mean
elevation of land surface on earth ?

(1) 1040 metre (2) 940 metre
(3) 840 metre (4) 740 metre

Which one of the following oceans is
possibly the residual part of Panthalasa ?

(1) Atlantic Ocean
(2) Pacific Ocean
(3) Indian Ocean
(4) Arctic Ocean

Which is not a planetary wind ?
(1) Polar winds

(2) Westerlies

(3) Trade winds

(4) Monsoon winds

Match List - I with List — II and select
the correct answer using codes given
below :

Tourist Centre District
A. Pandupol i. Jhalawar
B. Jaswant ii. Bikaner
Thada
C. Lalgarh iii. Alwar
D. Gagron Fort  iv. Jodhpur
Codes :

A B C D
1 i i i v
@) iv @i i i
@) i iv i i
@ i iv i i
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Which region is showing negative
population growth rate in the present
world ?

(1)  Eastern Europe
(2) Central Asia

(3) Middle Africa
(4) South America

Which of the following Indian State
does not share international boundary
with Myanmar ?

(1) Arunachal Pradesh
(2) Mizoram
(3) Tripura
(4) Manipur

Monsoon is not affected by which of
the following ?

(1) Shifting of ITCZ
(2) Unequal heating of land and sea
(3) Shifting of westerly jet stream

(4) Norwester

Which one of the following rivers does
not join Ganga from the southern side ?

(1) Son

(2) Yamuna
(3) Gomati
(4) Punpun

Which of the following gas is not
directly = responsible for  Ozone
depletion ?

(1) Chloro-fluoro carbon
(2) Carbon dioxide
(3) Nitrous oxide
4) Hydrocarbons
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Which of the following state of India
does not have either coastline or
international boundary ?

(1) Punjab

(2) Telangana

(3) Assam

(4) Himachal Pradesh

Which Constitutional Amendment Act
abolished the institution of Rajpramukh
in Rajasthan ?

(1) 6™ Constitutional Amendment Act
(2) 7™ Constitutional Amendment Act
(3) 8" Constitutional Amendment Act
(4) 9™ Constitutional Amendment Act

Chief Minister is appointed under
which article of the Constitution of
India ?

(1) Article 164
(3) Article 153

(2) Article 154
(4) Article 163

Match the following and select the
correct answer from the codes given
below :

Revolution Related Field

A. Green i. Oil-seeds
Revolution

B. Yellow ii. Agriculture
Revolution

C. White iii. Milk
Revolution

D. Blue iv. Fisheries
Revolution

Codes :
A B C D

() 1 i i v

2y w g i i
3) ii 1 iv il
4 1 i i iv
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Which one of the followings is not
correctly matched ?

Chief Secretary Tenure
of Rajasthan
(1) Gopal Krishan - 28-11-1977 to
Bhanot 29-12-1980
(2) Vipin Bihari - 10-03-1986 to
Lal Mathur 31-01-1992
(3) Mitha Lal — 01-01-2000 to
Mehta 26-10-2012
(4) R.K. Nair - 26-12-2002 to
28-02-2005

Consider the following officials of
Rajasthan State Secretariat :

I.  Chief Secretary

II. Deputy Secretary

III. Additional Secretary
IV. Secretary to Government

What is the correct descending order of
above officials ?

(1) LILILIV
(3) LIV, II, 10

(2) LULILIV
4 LIV, ILII

Who does determine the number and
conditions of service of the members of
the Rajasthan  Public  Service
Commission 7

(1) Governor

(2) President

(3) State Legislative Assembly
(4) Chief Minister

Governor shall discharge his functions,
except his discretionary functions, on
the aid and advice of :

(1) Chief Minister

(2) Chief Minister and Council of
Ministers

(3) Cabinet
(4) Chief Minister and his cabinet
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Who formally inaugurated Panchayati
Raj in Rajasthan on 2™ October, 1959
at Nagaur ?

(1) Tikaram Paliwal
(2) Hukum Singh
(3) Radhakrishnan
(4) Jawaharlal Nehru

According to Rajasthan Panchayati Raj
Act, 1994, who is the Chairman of the
District Establishment Committee ?
(1) District Collector

(2) Zila Pramukh

(3) Chief Executive Officer

(4) District Education Officer

Who will preside the meeting of Gram
Sabha in absence of the Sarpanch and
the Up-Sarpanch ?

(1) Block Development Officer

(2) Gram Sevak

(3) The oldest person of Gram Sabha

(4) Any attending member elected for
the purpose by the members of
Gram Sabha

Which one of the following statements

is incorrect regarding the Government

of India Act, 1919 ?

(1) The Bicameral Legislature was
introduced.

(2) The Upper House was called
Council of States.

(3) The Lower House was called
Legislative Assembly.

(4) The term of "the Legislative
Assembly was fixed 5 years.

When was Rajasthan State Human
Rights Commission constituted ?

(1) 1998 (2) 1999
(3) 2000 (4) 2001
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On which occasion did Gandhi declare,
“The British rule in India has brought
about moral, material, cultural and
spiritual ruination of this great country.
I regard this rule as a curse. I am out to
destroy this system of Government. ....
Sedition has become my religion” ?

(1) On 6™ April, 1930 at Dandi

(2) In a special session of Congress in
September, 1920 at Calcutta

3)

In Calcutta session of Congress in
December, 1928

(4) On 8" April, 1942

Which of the following articles of the
Constitution of India, Dr. Bhimrao
Ambedkar mentioned as the ‘soul of
Constitution’ ? '
(1) Article 16
(3) Article 32

(2) Article 17
(4) Article 21

Which one of the followings is not
correctly matched ?

Constitutional Sources
Provisions

(1) Fundamental — United States
Rights of America

(2) Parliamentary  — Britain
Democracy

(3) Directive — Ireland
Principles

(4) Emergency — Russia
Provisions

Identify the incorrect statement

regarding the Government of India
Act, 1935.

(1) Schedule VII of the Act had three
lists showing division of powers
between centre and the provinces.

The federal list had 59 items.
The provincial list had 36 items.

Residuary powers would be vested
in the Governor-General.

(2)
3)
“
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44. Which of the following statements is

45.

not correct regarding Fundamental
duties, mentioned in the Constitution of
India ?

(1) Fundamental duties were inserted
in Constitution of India by Forty-
second Constitution Amendment Act.

Fundamental duties are mentioned
in Constitution of India under
Article 51-A.

@)

(3) To develop the scientific temper,
humanism and the spirit of inquiry
and reform is a fundamental duty

of every citizen of India.

Fundamental duties are mentioned
for citizen of India under Part IV.

(4)

Match the following :
Fundamental Rights  Article
I.  Prohibition of a. 23
employment of children
in factories
II. Freedom of Conscience b. 24
II. Prohibition of Forced ¢ 25

Labour

IV. Protection of interests d. 29

of minorities

Select the correct answer from the
codes given below :

Codes :

[ I m 1
() a b e
2) b C a d
3 b c d

4 c b.. a d_
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Which one of the following statements
regarding the President of India is not
correct ?

(1) He may dissolve any House of the
Parliament.

'(2) He has the right to address and

send message to both Houses.

(3) He may prorogue the Houses or

either House.

He may. call joint sitting of both
Houses in certain cases under
Article 108.

4)

Consider the following statements :

I. Prime Minister is elected by the
Parliament in India.

II. Ministers are appointed by the
President on the advice of the
Prime Minister.

The Prime Minister shall hold
office during the pleasure of the
President.

III.

Select the correct statements from the
codes given below :

Codes :
(1) TandII
(3) TandIlI

(2) IIand I
(4) I,IIandIII

Which of the following directive
principles of state policy was not
included originally in Constitution of
India ?

(1) Men and women have equal right

to an adequate means of
; livelihood.
(2) Organization of village
panchayats.
(3) Participation of workers in

management of industries.

Organisation of agriculture and
animal husbandry.

4)

OB
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Which one of the following Political
Parties is not a recognised National
Political Party of India at present ?

(1) Indian National Congress
(2) Bharatiya Janata Party
(3) Samajwadi Party

(4) Bahujan Samaj Party

Shimla Agreement was signed in the
year of

(1) 1961
(3) 1972

(2) 1966
(4) 1999

Which of the following General
Secretary of United Nations was
awarded Nobel Peace Prize ?

(1) Ban Ki Moon

(2) Kofi Annan

(3) Boutros Boutros Ghali
(4) Trygve Lie

Which one of the followings is not
correctly matched ?

State Political Parties Symbols
(1) Asom Gana Parishad - Elephant
(2) Kerala Congress — Ladder
(3) Shiromani Akali Dal - Scales
(4) Lok Janshakti Party — Bunglow

Sarkaria Commission Report was
submitted, regarding Center-State
relations in India in the year of

(1) 1983 (2) 1986
(3) 1987 (4) 1988

i
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The share of mhnufacturing sector in
India’s gross domestic product during
2017-18 was :

(1) 50 percent
(3) 16 percent

(2) 30 percent
(4) 8 percent

Which of the following measures is
used to calculate growth rate of Indian
economy after revision of national
accounts statistics by Central Statistics
Office in 2015 ?

(1) Net National Product at constant
factor cost

(2) Gross National Product at constant
factor cost

(3) Gross Domestic Product at
constant factor cost

(4) Gross Domestic Product at

constant market prices

In which of the following years the fall
in India’s per capita net national
income at constant prices was the
highest ?

(1) 1979-80
(3) 1974-75

(2) 1991-92
(4) 1972-73

Which of the following statements is

not correct about Pradhan Mantri Kisan

Sampada Yojana ?

(1) This Yojana was started in the year
2017.

This Yojana is being implemented
by the Ministry of Agriculture and
Farmers’ Welfare, Government of
India.

An allocation of ¥ 6,000 crore has

been made for this Yojana for the
period 2016-20.

This Yojana will create modern
infrastructure with efficient supply
chain management from farm to
retail outlet centres.

(2)

3)

4

OB



58.

59.

60.

61.

OB

TR ST BT 3 TUSTEAH H &1 8T
Irg-wifet 2019 HE1 7 Fora -
(1) WS (2) drE
(3) B 4) AR

a9 2018 T Wd % gA98 10 Yferd Ryl
T ST % S G WM ol UEe 3R
qraat T e | g ®H 9 |l
gfeTd RYM 8

(1) veefiet gferd ReM, R

) fafas s gferd WM, AR
(3) I Y RuH, eI

(4) = gferd €A, 54

frafafaa § ¥ fraen feamr 2018 #
e frthe €Y & 3198 % €9 1 59
AT AT ?

(1) TR
(3) Ht.dt, weft

2) 0. seft
(4) wfera A

T 4 @ S 91 s et mel g
TTHYOT TSR TTRUET T=h1H o o1 H dal A8l
27

(1) T T AR TR S fEE
2 TFE, 2006 | AT B3I

T Y& Iexd Sk ATHIUT GiER
% HH U A Th U i 98 H S
B %9 100 fe7 ghfoaa teem fea
ST R, A I8 e I
T o1 ST B 5= 8l |

2 IS, 2009 ¥ TEE AT
TSR TR ThIH 6T A0 FGe1 T
merem mel wfE amfi ISR
TTRUE =hH < fem T |

30 whig ¥ enfRd g el o %Y
& = 33 wfererd afgemd g =R |

2

©)

4

38.

59.

60.

61.

15

Indian Air Force has decided to conduct
the exercise ‘Vayu Shakti’ 2019 in
Rajasthan at

(1) Barmer
(3) Bikaner

(2) Pokharan
(4) Jaipur

Two police stations from Rajasthan
were declared number 1 and 7 among
best 10 in India in the year 2018. The
police station at number one is

(1) Panchsheel police station, Ajmer
(2) Civil lines police station, Jaipur
(3) Kalu police station, Bikaner

(4) Lakheri police station, Bundi

Which of the following was elected the
President of Rajasthan  Cricket
Association in December, 2018 ?

(1) RuchirModi (2) P.C. Joshi
(3) C.P.Joshi (4) Lalit Modi

Which of the following statements is
not correct about Mahatma Gandhi
National Rural Employment Guarantee
Scheme ?

(1) The National Rural Employment
Guarantee Act came into force on
October 2, 2006.

Its main objective is to provide
atleast 100 days of employment in
a year to atleast one member of
every rural household, who
volunteers to do unskill manual

()

work.
(3) From October 2, 2009 National
Rural Employment Guarantee

Scheme has been renamed as

Mahatma Gandhi National Rural

Employment Guarantee Scheme.
(4) At least 33 percent of beneficiary
under this scheme must be women.
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Board of Secondary Education,
Rajasthan has fixed the dates of Class
X™ examination of 2019 as

(1) 14to 27 March

(2) 7to20 March

(3) 12 to 24 March

(4) 10to 22 March

The swearing ceremony of newly
elected Chief Minister of Rajasthan,
Ashok Gehlot was held in Jaipur at

(1) City Palace

(2) Albert Hall

(3) Hawa Mabhal

(4) Vidhan Sabha Bhawan

In Rajasthan Government
Chandna is the minister of
(1) Youth Affairs and Sports
(2) Rural Development

(3) Panchayati Raj

(4) Medical Health

Ashok

The horticulture  department of
Rajasthan has planned to develop an
agro-eco-tourism and International
flower research centre at

(1) Mount Abu (2) Jobner

(3) Pushkar (4) Jaipur

In which of the following events Firdaus
Kayamkhani of Bhilwara won gold

. medal in the ‘Khelo India Youth Games’

organised in Pune in January, 2019 ?
(1) 200 metre butterfly

(2) Badminton

(3) 100 metre race

(4) Table Tennis

A two days folk music and Art festival
was organised in the village Mamosar
in December, 2018. In which region of
Rajasthan this village is located ?

(1) Marwar (2) Shekhavati

(3) Mewat (4) Hadauti
OB
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Raman and Anmol have the same 1.Q.
of 120, Raman is two years younger
than Anmol. If Anmol is 12 years old
then what is the mental age of
Raman ?

(1) 9years

(2) 10 years

(3) 12 years

(4) 14 years

The first psychologist who
systematically attempt to explore the
unconscious part of human personality 1s

(1) Albert Bandura
(2) E.L. Thorndike
(3) Max Wertheimer
(4) Sigmund Freud

Which one of the following statement is -
most appropriate about the learning ?

(1) Itisa process not product.

(2) Itisa covert process.

(3) Itisincidental. .

(4) It is temporary change in the
behaviour.

The Thinking Process involved in
productivity of an idea or concept that
is new, original and useful is termed as
what ?

(1) Creativity
(2) Achievement
(3) Intelligence
(4) Personality

The leader of opposition in Rajasthan
Assembly is

(1) Vasundhara Raje

(2) Kalicharan Sarraf

(3) Gulabchand Kataria

(4) Arun Chaturvedi
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Which one of the following theory is
not included in Behaviourist theory of
learning ?

(1) Trial and Error theory

(2) Classical conditioning theory

(3) Field theory

(4) Operant conditioning theory

B.F. Skinner’s learning theory was

largely based on  ‘Laboratory

Experiments’ where as Hull’s theory

was based on which ?

(1) On Hypothesis

(2) On Mathematical Calculations

(3) On Experiments outside
laboratory

(4) On Social learning

the

Which one of the following is not a
constructivist view of learning ?
Learning is as such conceptual
schemas

Learning is an active meaning
making process

New learning based on learners
previous learning

Learning is facilitated by social
interaction

(2)
3)

(4)

Which one of the following sequence of
learning four out of eight types are in
correct hierarchical order as given by
the Gagne 7 :

(1) Concept — Principle — Multiple
discrimination — Problem solving
Principle - Multiple
discrimination — Concept —
Problem solving

Problem solving — Concept —
Principle - Multiple
discrimination

Multiple  discrimination = —
Concept — Principle — Problem
solving

)

3)

4

OB
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Which one of the following is not a
Projective Technique of personality
assessment ?

)
2)
3)
C))

Children Apperception Test
Word Association Test
Sentence Completion Test

Minnesota
Personality Inventory

Multiphasic

Which is not the characteristic of good
adjustment ?

(D

Awareness of one’s own strength
and limitations.

(2)
3)

Adequate level of Aspirations.
Capability of struggling with
unfavourable circumstances.

C))

Which one of the following act of
teacher blocks the creativity of the
students ?

(1)

Critical fault finding attitude.

Encourage the students to be
innovative.

(2).

Insist the students to judge too
early.

Ask the students to think about all
possible uses of an object.

3)

Motivate the students to think
divergently.

(4)

According to the Indian Physician,
three elements of personality, are Pitt
(bile), Vate (wind) and Kuf (mucus).
This classification of personality is
called

(1) Psychoanalytic theory
(2) Phenomenological theory
(3) Type theory

(4) Trait theory



81.

82.

83.

frfefad # @ safa 6 = = fomiwar

wrRfes gigam safd & feyarett o

it & ] ? -

(1) @ ¥ R swR %
LT |

(2) wami & AT | e 9 @
Sicill

(3) 9 Fat <t Wl 3 <feen
HE T GHSHT |

(4) Hani < stfysaferr = g TR A
Tt & |

He i ¥ diEq 9 sl & fo
frafafed & @ = @1 e TeyE
ST TE & ?

(1) YR T

(2) i 7 W@

(3)

(4) ST T HET

arftpm # IPon 1 Al § 8

PHAHFA AR ?

(1) e = swade oo & nfomm @ 3
HEE e |

(2) Sie o SAIER ! FHS1] TS HET 3R
AR TG |

(3) fia % cHEEH ! e TR Rt

- HHI | .

(4) e <t fspan sl ==fva &2 6B T
e = |

w U 9 i wife g S e
FToieh /TfoTeh] |Td a¥ig 3TY a1t &
QM T UG} ! TRETTYEsh o7
a1/ 8 | Sueh! gfg wiey gft -

(1) 140 () 715

(3) 90 @) 120

20

81.

82.

83.

- Which

one of the following
characteristic of a person is not
included in emotionally intelligent
individual ?

(D)

Identify various types of emotions
in others

Not able to control over the
expression of emotions.

(2)
(3) Proper understanding of the nature
and intensity of his/her emotions.

“ the

Proper regulation
expression of emotions.

over

Which one of the following is not
suitable educational provision for slow
learner children?

(1) Remedial Teaching
(2) Avoiding Competition
(3) Acceleration

(4) Avoiding Labelling

Which one of the following is not a
function of motivation in learning ?

(1)

It helps organism to move in
haphazard way.

It energizes and sustain behaviour
of organism.

()
(3) Itdirects and regulate behaviour of
organism.

)

It guides activity of organism
towards a selective goal.

A child’s chronological age is five
years and he/she successfully complete
the test items of seven years of age.
His/her intelligence quotient will be

(1) 140 @y 715
(3) 90 4) 120

0] ]
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Which of the following statement is
physical .

incorrect about the
development of adolescents ?
(1) Development of secondary sex
symptoms.

Increase in physical activities and
abilities.

Increase in muscular strength.
Bodily proportion have no change.

(2)

3
(C))

Which one of the following would be
an appropriate use of an aptitude test ?

(1) To test child what he/she has

learned in his/her teachers’ class.

2)

Test to determine to what degree a
child has met maths standards.

(3) To test whether child is likely to be

successful in medical profession.

Test to determine the child can
pass a board class.

4)

A child is average in intelligence,
higher in achievement motivation, low
in creativity and just average in social
development, this is an example of

(1) Inter Individual difference

(2) Intra Individual difference

(3) Measurable Individual difference

(4) Observably Individual difference

Which one of the following statement is
correct about the development of the
child ?

(1) Development is only result of
hereditary.

Development is not a continuous
process.

Rate of development is similar in
male and female child.

Development  proceed
general to specific.

(2)
(3)
from

“
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Which crop was not produced at Ahar ?
(1) Wheat (2) Millet
(3) Rice (4) Barley

What was the capital of Gurjar-
Pratihars ?

(1) Pi-lo-mo-lo (Bhinmal)

(2) Budha Pushkar (Ajmer)
(3) Mandvyapur (Jodhpur)
(4) Jangala (Bikaner)

Who is the writer of Sanskrit play
‘Harakeli’ ?

(1) Ajayraj Chouhan
(2) Vigraharaj—1I
(3) Vigraharaj — IV
(4) Prithviraj Chouhan

In which battle did Maharana Sanga
defeated Ibrahim Lodi ?

(1) Panipat (2) Khatoli
(3) Nagaur (4) Udaipur

In which year Akbar honoured the Man
Singh with Mansab of 7000 Zat and
6000 Sawar ?

(1) 1599
(3) 1603

(2) 1601
(4) 1605

Who discovered the rock inscription of
Ashoka at Bijak hill (Bairath) in the
year 1837 ?

(1) Captain Bart
(2) Col. James Tod

"~ (3) Captain Hawkins

(4) R.C. Agarwal
OB
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Who established the “Sampa Sabha” ?
(1) Govind Guru

(2) Motilal Tejawat

(3) Ram Narayan Choudhary

(4) Gopal Singh Kharwa

Who was the founder of Mewar Praja
Mandal ?

(1) Meethalal Vyas
(2) Maniklal Verma
(3) Heeralal Shastri
(4) Magha Ram Vaidya

When Matsya Sangh was merged with
Rajasthan ?

(1) April 18, 1948
(2) March 30, 1949
(3) May 15, 1949
(4) January 26, 1950

During the Freedom struggle which

. female was not sent to jail ?

(2) Narayani Devi
(4) Kali Bai

(1) Anjana Devi
(3) Ratna Shastri

Which Lok Devata’s wife became Sati
after his death ?

(1) Mallinath
(3) Tejaji

(2) Harbuji
(4) Devij

Which ruler was called “The King with

. Hashmat™ ?

(1) Sher Shah Suri
(2) Rao Maldev
(3) Man Singh -1
(4) Chandrasen
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